EARAROBEEIERT — 2 N— IBISH —F

2012888160 (k) 4miEFR6H

m )5y K C3 ¥5%3K L ‘ [x1z] # ‘ [eERsm]  — | 4 (/&) 1400M F4E
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. 3 | BEHT 1:32.8 5-5-4-1 |40.0| — 3 437 | BHEX ()
1189 Ay & ¥¢53.0 (=) (-2) k%%i’&
Lo NYToR—=97 BRTFARLTIZ KR
= it 3 | ALRE 1:32.8 9-8-5-6 |39.1| — 4 421 | BREEE (FEHR)
EH 3| VATl 54.0 (7€) (-g) | Wi
R:2&—F%>Jv> B:A-T7ET (IR fadi  fEt
= fb 3 | RSN 1:33.7 8-9-9-8 [39.0| — 9 444 | WIAFIZ (EH)
3|8/8| 7F7 54.0 (®) () | LR
L:7Rvq4¥ay—-> B:O-LIE21T— KERHS
S i 4 3 | FPEREM 1:33.9 6-6-6-7 | 40.6 | — 7 395 | #EH (FEH)
4 6 NZ M =TI 55.0 (1 1/4) *+2) 1l LLIBE R
Y= IF—Ib BXIXAAT T — BEXVF 77— L
. JIEIE— -34. —3-3— X — BEBF (EE
5 2 IHZAHYIN— 44 50 1(734t§) 3-3-3-3 | 41.2 1 ;1_163; el
L:viNyBLhTr BTIAFA Eld=t e}
S e B3 | HNEE 1:34.3 4-4-7-5 |41.4| — 5 427 | FBABE (ER)
6177 | AT wIN> 54.0 (1 3/4) 47 |AHR—
x4 a9R—5— B:E2aT7F+vAML Ea2K &Hig
. o6 | ESimEE— 1:34.5 1-1-2-2 | 42.5| — 5 453 | FUBIERS (FEf)
7 4 g)T N> 56.0 (1 1/4) (+3) ) 1—JLy b
L:oVTT4vI52RAN BT %~ =5 HMRB
” 4 7 | FEHEL 1:34.7 2-2-1-3 | 42.1| — 2 489 | FEEF— (FEH)
8l5|5 |7y h7EY b 56.0 A 1/4) (45) | LABIsE
R:d—IWRF7Y2—Ib B:77>4Y7 TR
9l1]1] 3= ENZ 3 g’méiﬂ 1:(396).2 7-7-8-9 |425| — | 8 | 409 gg%ﬁ ()
QARSI LRE— BNy O 1@ fx
® I—F—@EBIERL
|S=7r= 4,5,2,7,9,6,1,8,3
Ao=5"= 4,5,2,7,9,6,1,3,8
T =35r= 5,4,2,9,3,6,7,1,8
40 —F— 9,4,(2,5),7,3,6,8,1
[ RN
B 9 610M 794K 3-9 480 & 3-8 2,900/ &R 3-8-9 32,970/
# B 9 220H 8-9 3,950 B E 3-9 1,7408 EE 9-3-8 176,650
3 170 3-8 5,190 B H 9-3 3,200
8 1,170

ABICOVWTRDTEEERROODE. TR LIV,




